one foot

inches

three

one foot

one and one half inches

one foot

inch

one

one foot

three quarters inch

one foot

one half inch

one foot

three eighths inch

one foot

one quarter inch

one foot

one eighth inch

6”

16

9-24-15 02:19:40 PM  mcneilfreemanr]

\\SACFILO3\Production\Projects\F7W30746 VA 1DIQ SIVNC Crypts\zDrawings\000000_UDP\_01—CD\ 16—17—CONSTRUCT DTLS.dwg

Revisions:

Date

(916) 929-3323 Fax (916) 929-1772

Dwg. 16 of 25

1 2 3 4 5 6 7 3 9
F6 ARCH. PRE—CAST CONC. POST 7-1/2" SQ. X 7'—6"
501/ W/ 1" CHAMFER @ ALL EXPOSED CORNERS & 3/8"
RECESSED AREA (4 1/4” X 2'-9” X 3/8") (ALL 4
SIDES); CAST W/ (3) #3 REBAR EQUALLY SPACED,
FINISH AS SPECIFIED
SECURE W/ (2) 3/16" X 2" S.S. ;
TN ) TAMPER—PROOF SCREWS & EXPANSION SHIELDS oo_mmwm%ﬁwrmméw\ ..MWM:.E%% ..\_%wx%
N ’
B FLOWER VASE RECEPTACLE WITH CONCRETE WITH LIGHT BROOM FINISH, SEE PAD >~ . ) VASES” DECALS APPLIED (CLEAR DECAL W/ o
\(-502/ ATTACHED FLORAL REGULATION SIGN. DETAIL 50/ ~ 1; 1/8” ALUMINUM SIGN PANEL; 2 SIDES OF [E7 WHITE LETTERING, REPEAT TEXT 4 TIMES SECURE W/ (2) 3/16” X 2” Ss. —
FLOWER VASE RECEPTACLE ) ) > — POST, SEE \.-50/ AROUND RECEPT.); TYPEFACE FOR DECALS TO ] TAMPER—PROOF SCREWS & EXPANSION SHIELDS Z
. — WITH ATTACHED FLORAL F7 \( B7 \( B7 SMOOTH FINISH . o ) BE OPTIMA BOLD, UPPER & LOWER CASE; Q LLI
m REGULATION SIGN @@@ BRONZE SPIGOT NOM/ | \| m%%m _H_M_V:_WW m>m\nzozﬁo<<0mﬂ;%mm05 TYPE 1-1/2" HT. LETTERS —] o Ny 1/8” THICK ALUMINUM SIGN PANEL: SEE SPEC. /6 W
2 P —
e - MANUAL SHUT OFF GATE ) _ % 2’4 % FOR MATERIALS & COPY COLOR & FINISH (-501/ O
- VALVE WITH PRESSURE _ T
/ 08\ RS e VASE/TRASH RECEPTACLES, (SHOWN BEYOND) SMOOTH FINISH, SELF CLOSING O
CONCRETF VALVE BOX. SEE -3/ 5 | ] BRONZE SFICOT )
o . o R4 W |_——— ARCH. PRE—CAST CONC. POST 7-1/2" SQ. X 8—6" = —
| > " W/ 1” CHAMFER @ ALL EXPOSED CORNERS & 3/8” RECESSED
- ) o @ a AREA (4 1/4" X 2'=9” X 3/8") (ALL 4 SIDES); CAST \-50Y/ n|u
___3/4" PVC WATER ) w 1 2 W/ (3) #3 REBAR EQUALLY SPACED, FINISH AS SPECIFIED . —
SUPPLY LINE FROM ol Q| T4 WS TERER ENEEERT SRR, TR A R e el < AUt R EH AR O
IRRIGATION MAINLINE. © - 5 >
o Y g g pS o "8 =
_ i . a8 _ —— CONCRETE PAVING
‘g TRASH RECEPTACLE CONCRETE PAVING ) D CONCRETE PAVING o O - =
. £ - P —
N L (57 ) N % © 7 %z
2 N I
20} Q a Al FINISHED GRADE 2 2
502/ = > X ANCHOR RECEPTACLES W/ — @)
© | N STAINLESS STEEL EXPANSION / O
ST T T ISR — SHIELDS & BOLTS PER nu (L 1 I O I N o 1111 11" Y L U FINISHED GRADE
. SRR IS4 MANUFACTURER'S | |
S0 It iy SPECIFICATIONS. | |
/ D1\ CONTROL : EIEREH T 11 1 = - b - o
_a‘ JOINT ; e RO S - A AL _._
s J e — ] N w,:ﬁ_?::f::f :‘ 2y
_— - b < VN / — /
| DRAINAGE FILL (30" MIN. DEPTH, i 7 7‘7 z‘i 7 7 \\\ /// ] 7 7 b !
PRECAST CONCRETE— .- DRAINAGE FLUSH WITH SURROUNDING i ; 7 7 7 7 7 7 7 — |
BENCH TO MATCH 7 FILL AREA CONCRETE) COMPACTED TO 95% RD | = =HF = || s
/D EXSTNG AT \ e e I N =
‘ CEMETERY | 7-1/2" SQ. CONCRETE SIGN POST WITH FILTER FABRIC | - |
501/ 8 . BRONZE SPIGOT INSTALLATION. ALL PLUMBING _ _
/57 CONTROL 8" . TO BE CAST INTO CONCRETE SIGN POST FOR | = 2% 9
' SOINT : CONNECTIONS AFTER INSTALLATION. e 7 b _ |
50 o 83\ [87) [/ F6) 1/2" COPPER TUBING CAST DRAINAGE FILL (30” MIN. DEPTH), . _—
Lo 507 a0y (o INTO CONCRETE SIGN POST FOR ) . E COMPACTED TO 95% RD FLUSH WITH [ 4 T
. S CONNECTIONS AFTER INSTALLATION 4 . . SURROUNDING CONCRETE. : a . LA D=3
< . 71/Z » - FILTER FABRIC T 1—% _
4 pa) < 7
< 4 A A 7
/D1 CONCRETE FOOTING \\& 1/2" COPPER TUBING CAST ol 5757 4 4
ONTROL EXPANSION b Z INTO CONCRETE SIGN POST FOR /72 . |
| . |
(=BO0TAOINT /D1\JONT =M= 1= = CONNECTIONS AFTER INSTALLATION N ) ) |
gwww\%mza 10 COMPACTED SUBGRADE TO 95% RD \T@ 75 7 | 7 , 7 C , 7 | \\M | |
’ ”» \\ 4 < AN|
g’ 1"-6 CONCRETE FOOTING o I
\ Aul@!
COMPACTED SUBGRADE TO 95% RD
wA A\NE”AulO: ww A:”\_-lo= wN A=”Anlo=
3 3/4"
3 3/4 w\mmmmm /nmo%nv muo\mm..@mx>m.__u EXPANSION 3 3/
SHIELD. 1/4” DIA. HOLES TO RECEIVE SCREWS, TOP 1/4” DIA. HOLES TO RECEIVE SCREWS, TOP
& BOTTOM. SECURE W/ (2) 3/8"¢ X 2" & BOTTOM. SECURE W/ (2) 3/87¢ X 2"
\|@ S.S. TAMPER—PROOF SCREWS AND S.S. TAMPER-PROOF SCREWS AND
\ } EXPANSION SHIELD. EXPANSION SHIELD.
IR 2 o
T 1/8” THICK N .
» 3 MATERIALS & COPY COLOR & FINISH ~ SPEC. FOR MATERIALS & COPY COLOR &
EXPANSION JOINT DETAIL COLD JOINT DETAIL CONTROL JOINT DETAIL #4 BARS AT 18 N FINISH.
” ” ” ” 0.0. m>o_l_ S\>/\ M
EJ CJ GGREGATE BASE °
4 . LEGEND: R E SLAB COMPACTED TO 95% RO. Do Not ~——————1/8” THICK ALUMINUM SIGN
T P 1. 4000 PSI CONCRETE PER SPECIFICATIONS. FINISH AS SHOWN ON " Drink u 7
) BE B PLANS. SCARIFY, MOISTURE 1/2" RADIUS (TYPICAL) NWﬂW@Z.m%m@mMMW« _..%ﬁ_%_.o_» N COPY TO BE 2-1/4” HT.
Sn . me< .| 2. #4 BARS AT 18” O.C. EACH WAY PLACED IN CENTER OF SECTION. CONDITION, AND N 1/4” DIA. HOLES TO RECEVE SCREWS. | % FINISH TEXT COPY: "21
? . COMPACT SUBGRADE TO :
P N [ SUPPORT W/ DOBIES AS NEEDED TO KEEP CENTERED. 90527 REMOVE ORGANICS )
®) DT .y | 3. 30" LONG #4 REBAR DOWELS @ 18" 0.C. LOCATED HORIZONTALLY . ToP 12" TYP Y
7 b_A_ <l __ﬁ . IN CENTER OF SLAB; PAPER—WRAP ONE END TO ALLOW FREE . . o
@ e R . MOVEMENT. 4
U e B4 1/27 THICK ASPHALT—IMPREGNATED FELT; FULL JOINT DEPTH. BB W74 = |2 D6 DO NOT DRINK SIGN O D9 TYPE D SIGN PANEL - SECTION 21
“¢ .« . .0 . t| 5. PLASTIC KEYWAY JOINT, FULL WIDTH AND DEPTH OF SLAB. 7 : SCALE. 3" = 1-0° gt SCALE. 3" = 1-0°
o . 3 6.  JOINT SEALANT. COLOR TO MATCH ADJACENT PAVING. APPLY / N
PLAN VIEW DEPTH PER MANUFACTURER’S RECOMMENDATION OR TO 1/2” IF DU
— NO MANUFACTURER RECOMMENDATION AVAILABLE.
7. 3/8” RADIUS TOOLED EDGE. q VN 4'—0" TO BACK OF CURB OR
G- NOTE: LOCATE SECTION MARKERS AT LOCATION SHOWN
NOTE: . WALK (TYP.) OR AS SHOWN ON PLAN | ON PLANS, PARALLEL & PERPENDICULAR TO
PROVIDE EXPANSION JOINTS AROUND ALL VERTICAL FIXED ELEMENTS AND AS OOZO_uNm._.m PAD DETAIL W ——— HEADSTONE DIRECTION.
OTHERWISE INDICATED. NO SCALE i e
71/2" S SECURE W/ (2) 3/8"dia. X 3" S.S. BOLT
NO SCALE M
8 1/2" ) 1/8" ALUMINUM SIGN PANEL, (709 )
4 2 DU b Y~ ALL 4 SIDES OF POST. (-50Y
PP < COPY TO BE ) —
MEDIUM_SAND \ SLOPE 1% ? % \\& RADIUS EASING ALL OUTER EDGES \ = / e S s /F3
BLAST FINISH —- _ . & ARCH. PRE—CAST CONCRETE COLLAR, SEE 50
L 1 | ,xuuﬂo | | Y L ﬂ ¥y
e I P~/ mron 7 s N o 3/4 T — D oo
— -2 B ] ) ]
L e 4 L 3/4" ANCHOR BOLT " POST AND COLLAR. TO FLOAT ON GRAVEL /8" O SANDBLAST. FINISH S St 8 1/4"
SECTION ELEVATION BASE. . TYP. ALUMINUM SIGN PANEL R o%%@muo /&ﬁmmwﬂm /7
GROUT L orr CAST COLLAR " (WHERE SHOWN) . mwoo%%o moo%%mm ARCH. PRE—CAST CONC. POST 7 %" X 7 %" X (507
N 3-0” W/ 1” CHAMFER @ ALL EXPOSED
’ ” N~ ” ”
SR TYP 6'=2 - G— —r wxmﬁmmx 0o SCREW on%@ooo woon%um CORNERS & 3/8" RECESS AREA (ALL 4 SIDES);
2 ]G IYP. ~ | o WSO @Rered
\ PLAN 1/2” CHAMFER > O & EXPANSION SHIELD OsYO=0T UO@WDOO CAST W/ (3) #3 REBAR EQUALLY SPACED,
— SHOW ALL REINFORCING IN 4 SIDES. TOP ONLY. i ) (Zgyveoers muo O FINISH AS SPECIFIED.
: SHOP DRAWINGS. %! © oQQ%oo 2 mVQOQODO&Qm-
\ = SLOPE TOWARD J S | i (3) #3 EQUALLY mN ._.<_Um _n m_QZ _U>Z m_| CNOENENOSOENOS 0|
,,_I INSIDE OF PAD ,R = Ny SPACED REBAR SCALE: 3" = 1-0" “E”HEH;HEHEH._
3ﬁ o T T T T T T
/ —
D]
BLOW-UP SCALE: 3"=1'-0" PLAN SECTION 4, n Lk N 7 1/2"
N
F1 NO SCALE F3 SCALE: 1" = 1'=0" F6 SCALE: HALF F8 NOT TO SCALE
OOZWC _|._|>Z._|m >_.|.NO_|_ _._umo._u\mZAw_Z mm_umm Drawing Title Project Title Project Number NATIONAL
. . SAN JOAQUIN VALLEY 913CM3012
NATIONAL CEMETERY CEMETERY
SURVEYOR GEOTECHNICAL ENGINEER COST ESTIMATING * CONSTRUCTION DETAILS Building Number ADMINISTRATION
BLAR, CHURCH, & FLYNN STEVENS, FERRONE, & BAILEY SIERRA WEST GROUP, LLC PRE-PLACED CRYPTS IN SECTION 21
451 CLOVIS AVENUE, SUITE 200 1600 WILLOW PASS COURT 9700 BUSINESS PARK DRIVE, SUITE 102 . . DESIGN AND
CLOVIS, CA 93612 CONCORD, CA 94520 SACRAMENTO, CA 95827 Jacobs Engineering Group Inc. ~ e — T CONSTRUCTION
(559) 326-1400 PHONE (925) 688-1001 PHONE (916) 925-4000 PHONE Consultants in Architecture, Engineering, pproved: Froject Lirector ocalion s AN JOAQUIN VALLEY NATIONAL CEMETERY| |Zr@Wing Numboer
Planning, and the Environment SANTA NELLA, CALIFORNIA H\ WO\— SERVICE
P00 D6t Cstrast: Suite 200 Date Checked Drawn -
Sacramento, California 958171 09/28/2015 MIS RIM Department of

Veterans Affairs

VA FORM 08-6231




